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Confidence interval coverage for true population size Q = 10000

Based on 10000 simulations and 10−90 probabilities. Line at 0.95.
N

C
ov

er
ag

e

Symmetric standard confidence interval
logit−transformed confidence interval

10 110 210 310 410 510 610 710 810 910

S 0.012 S 0.842 S 0.956 S 0.966 S 0.973 S 0.973 S 0.971 S 0.968 S 0.967 S 0.966

T 0.000 T 0.812 T 0.970 T 0.973 T 0.975 T 0.976 T 0.972 T 0.972 T 0.968 T 0.967

C 0.004 C 0.027 C 0.029 C 0.029 C 0.029 C 0.029 C 0.028 C 0.028 C 0.028 C 0.028

S 0.010 S 0.099 S 0.106 S 0.103 S 0.100 S 0.096 S 0.093 S 0.090 S 0.087 S 0.084

T 0.008 T 0.101 T 0.106 T 0.103 T 0.100 T 0.096 T 0.093 T 0.090 T 0.086 T 0.084


